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Sources A to E are provided in the enclosed Source Booklet.

Answer all questions in the spaces provided.

1 Question 1 refers to Sources A and B.

1 (a) (i) Using the data in Source A, describe one trend in UK gas production during the
period 2000-2020.

Show appropriate calculations to support your answer.

[3 marks]
1 (a) (ii) Give one reason to explain this trend.
[2 marks]
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1 (b) (i) Using the data in Source A, describe one change in UK gas demand during the
period 2000-2020.

Show appropriate calculations to support your answer.

[3 marks]
1 (b) (ii) Give one reason to explain this change.
[2 marks]
Question 1 continues on the next page
Turn over »
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1 (c) (i)

Using the data in Source B, describe one trend in UK carbon dioxide (CO,) emissions
from electricity generation from coal between 1992 and 2012.

Show appropriate calculations to support your answer.

[3 marks]
1 (c) (ii) Give one reason to explain why that trend might have occurred.
[2 marks]
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1 (d) (i) Using the data in Source B, describe one trend in UK carbon dioxide (CO,) emissions
from electricity generation from gas between 1992 and 2012.

Show appropriate calculations to support your answer.

[3 marks]
1 (d) (ii) Give one reason to explain why that trend might have occurred.
[2 marks]
Question 1 continues on the next page
Turn over »
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1 (e) Discuss the view that we should develop renewable fuels and energy supplies rather
than rely on fossil fuels and nuclear power.
[10 marks]
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Turn over for the next question
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2 Study Sources C and D and then answer the following questions.
2 (a) Why might some people prefer public art to represent heroes and events that reflect
Britain as a whole (Source C)?
[10 marks]
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2 (b) Why might some people prefer public art to reflect the history and traditions of their
local area (Source D)?
[10 marks]
Turn over »
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11
2 (c) Discuss the view that graffiti should be recognised as legitimate public art.
[10 marks]
Turn over »
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13
3 Using Source E and your own knowledge, answer the following questions.
3 (a) Why might some people argue that it would be better to expand Britain’s regional
airports rather than Heathrow and Gatwick?
Give examples to support your points.
[15 marks]
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15

3 (b)

Why might some people argue that further expansion at Heathrow and Gatwick would
be a better solution to Britain’s growing need for airport capacity?

Give examples to support your points.
[15 marks]
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END OF QUESTIONS
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